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Best Practice Example for 1 acre of Mango

Period of record keeping: from 01.11.12 to 31.10.13
[image: image1.jpg]


Information about the Plot   





	Plot name: 
	Plot 3
	Total number of plants in this plot (total plant population):
	44

	GPS Coordinates: 
	N  07°21.173
W 02°20.833
	Plot size (acres): 
	1.0

	Variety: 
	Keitt
	Number of plants per acre (plant population per acre):

	44

	Planting date: 
	June 2003
	Planting distance:
	10m x 10m

	ACTUAL GROSS REVENUE
	 

	
	

	A. Actual Gross Revenue (GH¢)= 

(from page 5)
	4 000.00

	
	

	ACTUAL VARIABLE COSTS
	 

	
	

	B. Total Actual Costs of Inputs (GH¢)=
	385.45

	C. Total Actual Costs of Hired Labour or Services (GH¢)=
	565.00

	D. Total Actual Value of Family Labour 
(GH¢) =
	22.00

	E. Total Actual Variable Costs (GH¢)= B + C + D =
	970.45

	
	

	ACTUAL GROSS MARGIN 

	
	

	F. Actual Gross Margin 
(GH¢)= A – E= 
	3 029.55

	G. Actual Gross Margin 
per Acre (GH¢)
= F / size of plot=
	3 029.55


Planning: Harvesting Dates, Volumes and Gross Revenue Calculation of Plot:…PLOT 3……………..

	Harvesting Date
	Buyer (name + specify: market women, processor, exporter)
	Unit 
(kg, crate, fruit…)
	Quantity of units sold
	Price per unit 
(GH¢)
	Amount (GH¢) = Quantity of units sold x Price per unit
	Conversion factor 
into kg 
(weight in kg of 1 unit)
	Quantity sold 
(kg)

	15 June 2013
	Processor
	Kg
	500
	0.50
	250
	1
	500

	30 June 2013
	Processor
	Kg
	2000
	0.50
	1 000
	1
	2 000

	15 July 2013
	Processor
	Kg
	4000
	0.50
	2 000
	1
	4 000

	30 July 2013
	Processor
	Kg
	1500
	0.50
	750
	1
	1 500

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	Actual Gross Revenue (GH¢):
	4 000
	Total Quantity sold(kg):
	8 000
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Gross Margin Calculation of Plot… PLOT 3…


Representing …1.0….. acre(s)
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